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SPOTTING ERRORS

IMreciiong »

Each tem in thizs section bas a sentence with three underlined parts labelled as {a), (h)
and {c). Read cach sentence 1o find out whether there is any error in any underlined part
and indicate your response on the Answer Sheet against the corresponding letter i.¢., (a)
or (B or (c). i you find no crar, your response should be indicated as (d).

1. He had been doing  the job of a physivian during the 1990s, No eror.
ta} (b} (c} {d)

3 Hesaid  that he preferred coffee than tea. No error,
a) ) {<] (d)

3. Altthat glivters arc not gold, Mo emror,
(a} (k) (c} (d}

4, A species 15 considered endangered when it is
(2) (i
1 a very high rigk of extinction in the world  No error,

{c] {d)

5. Our greatest glory  is not in never falling  but in rising every time we fell.  Wo error.
() (b) {c) {(d)

6. Languageis an cssential modes of communication
i) (]
and svery language matters in communication. Mo emror.

() {d)

7. The matter was been resoived  after long @e[ibera!inﬂ
{a) (k)
amang the members of the team.  No error.

ic} {d)

g Care has been taken 10 ensure safety and security  of the participants in the event.
{a) (b} ic)

Mo error.

(d
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0, !pdiun film industry 15 considered o be  one of the symbol of cultural and social life.,
{2} {b) ()
Mo error.

i

1o, 1tisstill true  that the Indian economy  is dependent on mongoon.  Ne eror,

(a) (b} {c) (d)

1IHOAME AND PHRASES
IMvections
Given below are some idioms ‘phrases followsd by four alternative meanings to each.

Cheose {be response {a), (b), (¢} or {d) which 1s the most approprizte expression and mark
your response i the Answer Sheet accordingly.

11. Be in cclipse

| (e} Less successful
{b) Feeling happy

{£] Very successful
{d} Being defeaved

2. Ways and means
(1) & technigque
(b} Methods of achieving something

{r} Womms and regulations of doing
something

{d} lmproving ans's way of doing

i¥. Up in arms
(a) Wery happy
(] Yery sarisfied
(c) Very angry
{dy Feeling fine

14. Rig ticket
{a) Very less
b} Very costly

(e} Very casy
(d) Not much

1%5. Bolt from the blwe

fa} An event or piece of news which
i5 wne A preebed

(b} Dezirable svent or news

{c) An evenl which takes place as
planned

(d] News which has been  lomg
cxpecied, but arrives lals

16. Be a law unto yourself

{a} Bchave  unconvenlional amil
unpredictable

{b} Abide by law and order
{cy Ask others 1o follow the law

(d) Create law and order for others
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17. Spiff up : 19, Wind dowm
(g} To relax afler a period of activiry

k sell look neat ]
{a) To make ones (b) To ae fudously after a peniad of

(b} To make anssell ook untidy B o
{t] To make oneself look acrogant {t) To speak owi the muth 1o people
(d) To appear on Ihe stage as a3 (d) To act an the ground
babroon 0. Mellow out
1B, D wild (a} To feel bad abowt ather's enjoy-
. ment
{a) To rutl like a wild animal (b} To like and dislike people
(b} Te treal anyone like a wikd concurrently _ _
ereahure i) To enjoy oncsclf without doing
: . 3 mich
(elniliopfeelilimanigilizanimal {d} To work hard and domg much
(d) To grew without any conirol wiork
COMPREHENSTION

| Diirections :

| Iri this section you have two short passages. After each passage, you will find some items

| based on the passage. Read the passages and aniwer the items based on them. Yoo are
required 10 select your snswers based on the contenl of the passage and opnicn af the
author anly.

Passage —

anventional sducation makes independent thinking extremcly difficult. Conlormity
‘leads 15 medioctiry. To be ditferent from the group or 0 resist envitonment 15 hot easy
and is often rizky as long as wo woarship success. The urge to be sucoesstul, which is the
pursuil of reward whether in the mateals or in the so-called spintual sphere, the search
for inward or sutward security, the desire for confort —this whele process smothers
discontent, put an end to spontancity and breed fear, and fear blocks the intelligent
understanding of life, With increasing 2ge, dullness of mind and heart sets .

Itr secking comfort, we generzlly find a quiet comner in life whers there is 2 minimum of
conflict, and then we are afraid 1w step out of that seclusion. This Fear of life, this fear
of struggle and of u new experience, kills in us the spidt of adventure: our whole
upbnnging and sducation have made us afraid to be different from our neighbour, afraid
Io think contrary to the esiablished pattern of society, falzely respectful of awthority and
tradition.

Fortunately, tere are 2 fow who are in earnest, who are willing k2 examine out human
probiems withour the prejudice of the rght or of the left; but in the vast mujority of us,
there is no teal spint of discontent, ot revoll, When we yield uncomprebendingly to
environment, any spitit of tevolt that may have had died down, and our responsibalivies
soon put an cnd W il
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21.

22.

23.

Why dosz convenlional cducalion {b} Because they seck pleasure

make independent thinking extremely {c] Because they seek comlion

ditficulr T

(@) Tt does nol encourage disagree- (d) Becanse they do oot worship
meni SO ESS

{t) It does not aceept eonformity

{c} It is not Eact based, but problem 24. Which word i the passasge moans
based ‘bias" ?

{d) It iz only eeligious edocation {a) contrary

Worshipping suceess leads o b i
[a) questioning the established prac- )4 iy
fices (<)  wncormprehending]y
(b} :Imeptlng the established prac- (d) discontent
ices
c) modifving the established C= ) Tm
tc) Pk fring e 25, The word “wncomprehendingly™ in the
(1) neither accepling nor mejecling PRESPESRNSS
the asstablished peactices (a) Ashieve success
Why do most peopls want to find 2 (b} Laming rmoney

gquiel coemert in hife 7
{a) Beoeawse they do not like o be
poace {d} With complete knowledpc

(¢l Withowl knowing

assage — 1l

Noice is a common problem in both urban and rural areas, waffic noise i particular. Trees
and shrubs are not only visvally amractive but also can make effective noize barmers.
Theretore when space penmis we have o plant more trees and shrubs in areas where
there is noise problem. By doing this noise can be reduced by six decibels over 3 distance
of 30 metres,

The oniy thing we have to keep in mind is that the planting shoold b pamicolarly dense;
the trees which have dense foliape and relatively vertical onentation of arrangerments
should be plantsd, It will completely screen the source of noise. 1E there is any gap in
barmier it will il allow noise W penetrate. Single layvet of trees is worthless as a noise
barmrigr Duee Lo intet-reNection, molti-rows of traes are more effective, The plantad trecs
musl be taller, Wi can reduce noise level by 1-5 decibels with each additional 3 feet of
trexs husight, :

When the opportunity to use brees is restricled a combination of slrubs and tall grass ean
be wied. Instead of tanmac of gravel surfaces solt grass pround cover i3 preferable. Lo wili
absorb noise racher than refect it Kows of trees, shrubs, crmons, ground coverning plants,
climbers and their flowers not only redece noise and provide a besutiful backyard they
also belp block wind, provide shade, and absoch iraflie pallubion,
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26, What distance a good number of trees
can cover in reducing noise ?

{¢] Moize iz zent back to the source

{d} Noise can penstrate easily

(2) 30 melres

(b} &0 meires 29, Hipher the Leees

(€} 3 metres {z) higher the noise
(d} 304 rmeilres

27, Trees can reduce noise only when
(2} planted in isolation
(b} planted with flowering shrubs
i) they are planted denss
(d} planted wiih shofetr ones

28, ‘Single layer of troes is worthless a3 a
nmse bamer” Why 7
(@) Moisc can’l pencirate easily
(h) Relp in the prowth of shrubs

{b} lower the neise
(v} preater the decibels

{d) thinner the air

. How da shrubs and tall grmss reduce

neise 7

(a} They absorb noise
ib) They rellect noise
(¢] Thev divert noise

()} They are neutral o mmse

ORDERING F WORD¥S IN A SENTENCE

Direcriaes :

Each of the following iems in this seetion consists of a séntence, parts of which have
heen Jumbled. These paris have been labelled as B Q, R and 5, Given below cach
sentenee are four sequences pamely (@), (bl (¢} and (d}. You are required to re-amange

the jumbied parts of the senbence and mark your esponse accordingly,

31. conswderation for odhers  for self-gratification

freedom does not mean The opportuniny

I Q
or the xetting aside of
5

fa) SFQR
(b) QST R
(¢} RPQS

fd)y RQST
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J2.

J3.

A,

35,

ofany kind (o freedom and intclligence dominaiion or compulsian

P 0 ' R
is & direct hindrance
5
(a) KPF&C)
by ROQPS
) SPOQR
(diy ORSF

encugh potassivm, banana provides  from vanows sugars  and sustained energy
F QJ B 5

(a) POR S
fb) RSQOF
k) SQRP
d QFSE

of greal troublc  thisis atime  the world to the maumum a5 ane virus threatens
F Q R S

{2) PQSR
b} RSTQ
() SEQF
) QPSR

are of the ppinion same archaeologisls  and that everybody cujoyed cqual stams

I¥ 0Q R
that Herappan sociely had no rulers,
5
(afy JEeTAETE
by QSETP
e}y QTSR
(d) RP 50
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36. inthe same locality marmage within aunit  endvgamy eles to  or a growp living
= Q ' R 5
fa) QREF
(b REFPLO
] QPSS K
{d) RQSP

37, when stearn engines  dominated industnialization  ¢oal was the main soutce
1 Q R

of energy in the initial slages,
8

fa) SPERQ

by K5PQ

() PORS

)y QRSP

38. from the scientists ?  is the information  that comes  how important
P B R g
{al OSPER
ik} QRSP
) SORP
dy SPOQR

39%. brought an by destructive pesis  humans have suffered  frustration and fisod losscs
P G - R
S:il'.ll.-:-l: earliest limes,
e
a) SI'PQR |
) QREF
ic) SORP
id} RSOFP

4. most spectacuiar gold coins  some olthe  the Gupta rulers in India  were issucd by
P Q 24 3

(a} RSP Q |
b} GF5R |
{rr PQRS
{di STOQR
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ORDERING OF SENTENCES

irsctions

In this section each Tienl cotsists of 51
centences are piven in the beginning as
have been jurmbled up and Tabelled as T O,
sequence of the four sentences arud atk youE

41, 51: Man has progressed wilh scicnee
and wechnology. ’

o5 What was difficalt and impossible
is now casy and passible.

P - He iz on the road 10 conguet ather
plancis. /

Q1 Mow with scientific knowledze
and technical know-haw he has
June what was impossible.

R : Hitherte he had boen backward.

g - He has reached the mooi,

The comact sequence vhould be

{a) SRQF

) RPOQS

cy RQSP

d) QRSP

4%, 51: We drink more  walet duting
SUMITIETS,

%6’ There arc vapations in weather
conditions  during  different
SEASONS.

p i Onthe other haod i norih-sastenl
slaics, winters arc mild except m
e tulls,

{} : Broeause in North India, both the
gesSioNs have  EXmenc weather
conditions.

E - School clothes during the summer
iz different from the winler

2 - Why do you weal lighker clothes
during  summars and  heavy
wonllen clothes duting the winler
i north India

% senlemees of 8 PAsEALE. The first and sixth
g1 zoal 56, The middle Four geniences n each
R and 5. You are coquired to find the proper

response accordingly on the Answer Sheel.

The orect stquence showld e
{a) SKPF 0
ity R3QT
¢y PQRS
dy QPRS
45, 51 Policy, like many other LErms, 15 8
complex concept,

S6- Public policy is e OWCOME of
the strorgle berween government
and poweriul groups.

P o It iz form of povermment cotitrol
psually capressed in 3 law, 2
\egishution, a regulation of an
order.

£} : Public policy is whal 2 govem-
menl chooses as  guidaoee Eor
actiod.

R : A policy may be veneral  of
specific, broad or Bammow, sumple
ar complex, public of private,
whitlen nr unwritten,

5§+ 1 takes different forms.
The cormesl SEJUETCE showld be
3) SRQP

i SOFKR

ey BE5PD 0

() PORS
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. 51 The Jhop Furte i3 a raditionzl
fingitype garment WaHm by men
in lndia,

$6: Gandhi ji usinnily wore a simple
shawl with his dhap

Pty commonly wom with a looie
lotg tunjc.

) ¢ This be sturted WENTINE afler he
gbandoned hiz westorn attirg of
panfs and shirt.

K A dhosi, made of homiespun fhogy
cofton  cloth, was e fETmMENT
favoured by Gandhi ji

5 : The dhotr s rectangular pacce of
unstitched cloth, arogpd Five yargds
lotig, wrapped around Lhe mijdssf
and fucked botween the legs.

The comreci SR should be

@ FSR O

B RSPQ

ey SPRG

(d) RSP

45, 51; Languages in contagl with each
other cayse chanpe,

56: Changes oftep oeour - first  in
informal and casog| language.

F : The INCreasing Lse of English in
many pars of the world affoct
both ineai lamuapes and English.

Q) : Languape copract has long beon
recognised az 8 ingjor chgme gf
chanpe,

R : This gives nige o new, hybrid
language variegas

5 1 A higoricel example jz thal of
Danish and English which led 1o a
mz1or shilt in the vocabulary and
grammar of English,

X¥WEL-ENG — 4
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The comect sequance should be

{a)
(b}
{c)
{d)

46. 5] -

56

ESQep

O5PER

QRSP

SORPF

Urbanisation in Ingiz has bacome

an  umportanl  ang oreversibic
DTOCESS,

As per the Census of India 2011,
the urban population s INCrtasing
Fapidly.

: The H)ag development agesda

of the Unjred Mations  hay
cmphasised the roie of Sustainable
cities for making cities melugive,
sgle, resilient and Sustaingble.

: This shows thar Indiz i5 in (he

midst  of  transitgn itom g
predominantly rymal 1o 3 UASI-
wrban society,

* The process of uchanisation hay

been characeerizad By a dramatic
intreage i the number of large
Citizs,

It is an portant dererminant of

hational  econgmic growth  and
poverty reduction.

The comrect sequence should be

{a)
(b}
(e}
(d)

QRSP
PSRQ
SRGQF
E)s5p




47. Sl

4K

Eihics 15 2 branch of philosophy
concermed with the  distinction
between right and wrang (morals)
and the ultimate worh of achuns
or things (valucs),

S6: But valucs can be either inherent
of conferred,

P : For many philosophers,  only
humans are moral agenis, being
capshle of acting morally or
immorally.

{3 : Environmental ethics asks about
the moral relalionships  between
humans and the world assuwd s,

R : Cihics evaluated the relatienship,
rules, principles or ocudes  that
require or forbid certain conduct.,

S : Value is 38 measure of Bz wonl of
something.

The comeet sequence should be

) RQPS

tb) PSR

fc) QSRP

(dy RSP

£1: The Consiitution - of India, inico-

]

duced on 26 Januwary 1950, laid
down certain basic prnciples and
values

The Constibetion gusraneed all
citizens equality hefore the law
and cquality of appoctumty in
povemment cmpliayTrenl.

1 It was also o be a fedecation with

demurcation of spheres of action
berweet (e Trnion Goyvermmeni
and the Ste Fovammenes.

: India was to be 3 =secular and

democratic  repubhe with  a
parliamentary system  based on
adult franchiss.

11

49,

(a}
(o)
(c)
(d)

e

] i

The
(a)
{b}
{L]
{d)

. Ayushman  Bharat

+ This

. These include : frecdom of speech

and cxpression, freedom  to

asscmble prace flly elc.

1 It puaranteesd sl Indian citizens

certzin fundamental nghts.
corract sequence should be
QPSR

R5POQ)

FPEQR

SQRP

The Mational Health Policy 2017

envisages creation of a digital
health pechnalogy eco-gsysiem,

Secondly, oifering Mhancial pro-
tection up to F5 lukhs pec year per
famuly for the deprnived L} erores
plus houscholds.

COMpPSig,
mwin missions 15 set to Ensform
the nation’s health system.

: This will zlso foster a linkage

across public and prvale health-
care.

: The policy aims at developing an

inlegraled health  information
syslen that serves the need of
all stakeholder and  improves
efficitncy, LANSPINETICY,

will be camied oul by
operationalising firstly .5 lakh
heallh  and  wellness contres
utfenng prevenlive and primary
Care.

correct soquence should he
QSEKP
QRSP
RGPS
S PR}
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51. He sand that he

. 81 Ecology, hisdory and geceraphy
determine  the  distribwtion  of
Cr2anisms.

86: Others prefer 10 interpret bLio-
geographical  Ristory  diroush
vicanance (ratge-splitting} avents.

P! Sorme historical  biogewrephers
are nterested in (mding centre-
nf-ngins,

i} ;- Most spesies distributions result
from a combipation of all these
tactots.

R : Bul  biogeographers tend o
specialise in ecelowical aspects
[eeological biography or historical
aspectsk.

= : Ecalogical  biogeographers  are
inlerestcd im0 the  effects  of
environmental factoes.

The corroct sequence should be
(a}) QRSP
by ROPS
el [FrBas
() SFRQ

FILL iN THE BL.ANKS

Nrechions

Each of the foilowing senlences in this section has 4 blank space and lour words or group
of words are piven atier the senlenee, Seloct the musl appropriate word o growp of wards
for the biank space and indicate your response on Qe Answer Shear accordingly.

when he
list all his investnent in the stock
narket

{#1 was broken

{t) was broke

ye} brake

fd} had been colapse

%2, The man in black thought that ke was

selecled for the team 1o
Play at the nativnal level

(@) uvme af the plaver
{b} one of the players
1c) is one player

{dy e plaver of the (=an
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33, When she

_ her frend after a
perwnl  of wo  decades her  throat
thoked

{a) mests

(b) had been meeting

(C} et
{d} has met
. The porrail of ihe lady conveys
It appoars
[a} the best

{b} more than
(¢} the mos

fd) mothing




<P

A bopmphy iz
life history

[reTsan's

{n] sbour a

ib) about

{£} lora

(i} with a

58, She wld me thal she ler

5T

degree by 2023

(z) will have compleicd
(b} shall ba complaied
] will completed

{d) would have compicted

Whai s the name of the person
_ daughter mamed your
cousin fast wear

{a) whose
{b} who
{€] whom

(d} with

S8. The world 15 changing

ihat the rich becme ocher .anr.J. 1he:
PPOOC B2Come penat

(1) through
(D) In many way
{C)] mya way

() im such a way

. Had 1 been informed beforehand, |

il 0 i to the celebrations
{a) could have made
(b} will have made

(&) would have

(d} ought to have made

» Indian perspoctive of life infortns (hat

lzading a life of preed TH
unhappiness

(a) will lead
b} shall be
(cy wall resulr

(dY would resulted
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ANTONYMSE

Directions ;

62.

Each et in this seclion consisls of sentences wilh ao wrderined word followead by fuur
words or group of words. Seiect the opoon that 15 apposite in meanlog 1o the undechned
word atd mark your response on the Answer Sheet accordingly.

His areuments are not valid. People
conzider 1t bombastic

{a] outdaled
{) sraight forward
{c] werbose
{d) not true

The decizion was alsurd for many of
the members of the eam

{a) bizame

() meaningless
{c] reasonable

{d} thoupghtiul

Relatives of deccased lave been
informed ahout the accident

(a) injured

b elove

(c) dead

(d) sumnwed

At last she was able to get some solace

gs the matter las been  rezsolved
amicably

(a} conmfon
{t) relief
{¢} purushment

{d) aggravation

XYWE-L-ENG - A
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65, Tweniy firsl century has omasd ool Lo

&7,

68.

bz a cenhury of problems confrary Lo
the thinking that it would be a better
Litne

@y semilar

(k) different

(e} divergend

(d) good faith

The poet sad that poetry s a
spontaneous overflow  of  powecful
feelings

{a} prepared
{b} aleriad
{c) deliberate

id) well exccucd

Language is an nstrument for assering
ofle's identity, altibeder amd perspech v
in) declanng

(b} supponing

(c) denying

(d] propagating

He has been exonerated as he tendered
an apolagy

(a} honoured

(b} pardaned

{} convicicd

{dy felicitated




69, Perpadion i esséntial for people to . Every habitat has some  distinctive

wock a5 4 Lean vegetation which defines  the  wro-
sysbem

(a) Dhislike .
(@} wuniquc

(b} Duscouraging i T

() Convinuing (c) special
(d} Deter (dY wnfarmiliar
CLOYAE COMPOSTTION
IMrrctinns

Each of the foliowing sentences in 1his section has a blank space with four words or
group of words piven. Seleel whichever word or group of words you consider the most
apprapruls for (he blank space and indicate your responsce on the Answer Sheet

srcordingly.

It sounds hke 71. (&) a preat iden. People petling instanily excited
(] an
(=) the
{d) some

when they fear 7L {u} =& phrase ‘education for peace” or the litie
{by the
cy that
(d} sodme

of a course that cails itself “pease Education’. Abowl a decade apoe, [ proposed
swch . Th i) any course in my nshtule. The ides of & course
{b) the
) Sunme
d) a

4. (&} to "reace education” had occurred to me on e way back from
(by in
fc} for
{d)y on
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one of the ncighbouning countrics where [ mer students of cless TX. | could not find

T5. (a) any difference T6. {3) with Indian smademts
(b) the {b) bhenween
(c) that {€] among
(d} this {d) to
aruf their counterparis in e other counioy on poace T (a8) wilk
by and
(c) becausa
id} but
living together. It made wme think Gat i one leams o Live with a conflict, life grows
across it like grass TR (a) or ireez. The argumenls and stances
(b wirh
(c) for
(d] some
children ook demonsirated T3, {a} lor pruce pomes from under-
(b} bur
{1 that
{d} when
standing a conflict well, mot nocessarily 0. (ar by solving it.
(b) with
{) I 01
(dy for
SYNONYMS
Hresfions

Each itcm in this section consists of a sentence with an underlined word(s) followed by
four words ‘group of words, Select the option thal 15 nearast in mearung to the underlined
word and mark vour response on lhe Answer Sheet accordingly.

Bl. Having wi caciled she openéd up the 82, The inherent danger in the problem is
Pandora’s Box which ked m It of that il would lewd w0 many more
SOmMmMobon problems
(a) uproar {a) outward

_ {b) peace (b} difficult
(c} sound ) hallow
(Y funous (d) inbual

XY WE-U-EN{G - A {7




BY. The officer was reprimanded by the

court for delaving the case

(#) admonished

th) appreciated

(<} praised

(d) disliked

. Sote peaple think that thewr steength
s pecpetual

{a) temporary

{b) powerful

(¢} ever lasting

(d} all persuasive

One's actigns ¢xemplify onc's aitiude
atud walues

fa) devise
(b} sympathize
{1 asks for

{d) demonzsrate

. The crux of the issuc was that thete
was no evidence to prowve the accused
guilty of the act

(a} corc
(h) part
tch ndea

(dh tip

17

7. Cach

child  develops  hissher
compelency  hased on the contexts
and the inputs for leaming

{a} capabilinr
(b} thinking
(=) knowledze

() ideal

- He appears to be very hanghry, but he

iz 2 humble person
{a) 1oweh

ih) modest

() arropant

(d] knowledgoahic

. The mewly appoinled szcretary s

Imdustrious
(a} diligent
(b} lmowledgeable
{2] indoient

id) insincers

. The indipnant attitde of the speaker

made the groups uwnhappy
fa) resentfil
(h] congemal

2] unaly

{d} supportive
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PARTS OF SPEECH

IMreciions

Each of the fellowing sentenees has 2 word or phrase underlined. Read e senicnces
carefully and find wlich pan of speech the underlined word is. Indicare your responsc on

the Answer Sheet accordingly.

91. The preacher said, “No one 12 above

the all powerful”
{a) Adverb

(B} Place value
{¢) Preposition
1) Yerb

92. The mwst beautiful seven monkeys of

ihe landlord wers sken for a sl
(2} Ohbject

(b} Adjective

(¢ Maun phrase

id] Moun

93, Alas! He has been defeated
(a) Adjective

{b} Adverh

{1 Inieggeciion

{d} Conmunclion

94, The men who is in the green shift is

the chief of he day

(a] I'ronoun

(b] Eelative noun

(o} Demonsiratyes ProToumns

(d] Assertive noun

XVWSE-U-ENG - A

95, He has been diving in the jungle for
long and hc knows all the animals
hara

{a} Subordinating conjunclion

fby Coordinating conjunclion

(<) Preposilion

(d) Perzonal pronoun

They have been dnving simce early
MOCnIing

{a) Adjective

{b} Adverh

] Woun

{«d) Comparsan

7.

This time we woke cp (@l vis
related disegses

(a} Drononstrative
(B) Arttele
(e} Adwerh
(d) Moun phrase

. Love your neighbour as thjﬁ_n:ﬁ
fa) Maun
(b1 Pronoun
{v) Preposilion
] Adjective

15




99. Ravi won the makkh with a hoge
margin

(2} Tniransilive wverh
(b} Transitive verb
{€) Dermwomnsirative werb

i} Adjective

I00. There wias an gxulizlien in e eroup
(2) Adjechve
(k) Adverh
(e} Adjsctival Moun

(d) ™Woun

COMPLETION OF SENTENCE

Ihrecfiong »

Following items have ome perl af the semence followed by four alternatives. Camplate
the sentences by chooasing the vomeel alismanive.

1901, Sheela has been at the receiving end
fa} but she 1 very honest
(b} and she ix very honest
{r) shc had been prowd of it

{d) she was fine wirh i

102. Elatn has no gther option
{a) wuniess he wins
(b} buL 1 aecept the challenge
(c) though he has won challenge

(d) he has ¢ socept the challenge

[03. Although the wmop has been acquitted
3} thcy arc under the walch of police
(b) they art Tree to do enything
(c} therc i1s no suspicion in then

{d) they have not been amested

E04. Unlcss you (ulfil the exsential qualifi-
calions

@) you will be called for the nter-
Vi

(k) wou shall be selected for the post

{} vou will not be called [or the
nleTvicw

{d) you can’t be refected

0%, The company’s bid for the cotiract is
réjecizd

{a} =mnce 1t Nilled all the conditions

(b) for the company fulfilled the
conditions

{c} for the company had nol been in
the poodwill list

{d} sinee (he deposit in the accoonl s
found lcss than required
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106. I could not sleep (<} becanss you need

fa} because being very tired (d)} slthough you want

{(h) despite being very tired 19%_ If you had planned the work well

! . & shall h leted it
(c} in spitc of being sleeplass fa) :t’:ﬂn]:e O M o adis 1 Dt

(d} since being very tired (b} wou could complete il on hime

(c) wou will comiplete il on time

107. She mamied him
(d} wou could have completed it on

(@ since his good naturc tirne
(h) because his nature 110. You can use my computes
(¢} because of his nature (a) a5 long as you can’l use any
external drive
Sl T g g (by as long as you used any external
- drive
g, 1 will comes o meel you S T T g e

_ extemal drive
(3} o case you wamt

(d} as long as you shall use any
(B} o case of lime extemal drive

PREFOSITION AND DETERMINERS
INrections :
Each of the following semlences in this seclion has a blank space with four options. Select

whichever preposition or determiter you consider the most apptoptiate o the blank
space and indicate your response on the Answer Sheet accordingly.

L. Don'tge the wind, you will 112. He hes been comsidered
fage the music [aker. honest contestant 1n the competition.
fa] wilh {a} an
(b far {b) a
(c] aboul () the
(dy between id) one
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NY Don'tread ~ the lines, Read I17. 1 will take care mysclf.

the hines. Yuou don't bother about me.
(a) in fa) of
(b} between fh)  shout
(c} on [c} tor
(d) by {d) off
114. The village posscsses  Spemie I18. She is considers]
heauty. nightingale of e college for her
T TER T
{a} some
(@) =
{b} a
(b an
{¢) =n
{ch some
{d} the
(dy the
115. He iz all ouwl io blame everyone
13 bis moistakoes. 1% The toom a5 3 bit dark. Could you
please tum _ the light ¥
fa} for
(a) on
(Bl
{b} in
{c} on
(=) off
(d) with
(d) away
11&. This is __ unigug 5ystem of
governance where everyone is the 120. [ron’t wilk so fast! 1 can't keep
ZOVETEn. with you,
(i} anm {a} in
(b)) the B} upio
(c} a (<} wp
(d) some {dy on
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SPACE FOR ROUGH WORK
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SPACE FOR ROUGH WORK
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